pPep

Yesterday_Today Tomorrow

~




o
~
Al
o
Qo_
Al
o
0n—
Al
(@]
< —
Al
3
o\ A A i
© =)
8— N
e \
N A A
) 2 o
& S
o (7]
O’_
Q Y 2
= S i
o ©
~
o
o —
o
Lo
o
3_
o
si_)_
o
N_
o
9_
o__
(0]
o T I
[e)
(@]
o
o___
O
o___
0
o__
<
o__
™
o__
Al
°__
el y v
T
10 20 30 40 50 60 70 80 90
A+B+C+D H H1 H=
2bar = 17,5 I/min (cm) (cm) Altezza utente
160 190 Customer height _ Customer height
A+B=C+D 170 200 Customer height _ Hauter client
2bar = 8,5 I/min 180 210
190 220 Hi =
Altezza consigliata

Recommended height _ Empfohlene héhe
Altura aconsejada _ Hauter conseillée



